Customer Relationship Management Prof. Swagato Chatterjee Vinod Gupta School of Management Indian Institute of Technology, Kharagpur

> Lecture - 15 Economics of CRM (Contd.)

Hello everybody welcome to the course on Customer Relationship Management in the NPTEL Swayam platform, this is Doctor Swagato Chatterjee from VGSOM IIT Kharagpur who is taking this course for you, we are in Week-3 and in this particular week we are discussing about customer lifetime value and how to calculate that. So, basically we are discussing about the economic part, the mathematical part the maths — the maths and money part of customer relationship management.

(Refer Slide Time: 00:45)

	Newstrawn + / = - 0	· · · · · · · · · · · · · · · · · · ·		interial Ante	2 (int)	art in Real in Date: Seal in
-	and a he	s agent s som s	194	10	104	
4	A	В	с	D	E	F
1	Buford Electronic	s (a company that sales \$350million electronic pro	ducts in USA)			
2			Small Companies (<\$3000 per year)	Large companies (\$25000- \$100000 per year)		
3	Starting Situation					
4	Conver	sion Ratio (%)	15	5		
5	Costs p	er sales visit (\$)	20	100		
6	Numbe	er of sales visits per prospect	2	9		
7	Turnov	er per customer during first year (\$)	1200	44000		
8	Margin	on sales per customer - first year (\$)	360	8500		
9	Numbe	er of prospects approached	40000	8000		
10	Financial Results					
11	Sales e	xpenses per prospect (\$)	40	900		
12	Costs t	o acquire a customer (\$)	267	18000		
13	Net co	ntribution from the acquired customer (5)	93	-9500		
14	Numbe	er of customers acquired	6000	400	1	
15	Initial	nvestment in expansion of customer database (5)				
16	Net co	ntribution newly acquired customer			· mar	F
17					1 -	
18		09.5				1 il

So, here I will solve some small hands on and under the domain of this is also is common between customer marketing analytics program and also customer relationship program. Some of the aspects are common and, but still it is important. So many people who are doing this particular course alone will need this particular understanding which is very easy and, but very important as well.

So, there is a company called Buford Electronics a company that sales around 350 million electronic products in USA. So, this company is a B2B kind of company and in the B2B company there are two types of customer base that they generally target. One is

small companies and one is large companies. So, electronics they are selling let's say, they are selling some projector some CPUs, some this and that. So, even the small companies might need that and the bigger organizations will also need that.

So, how do you how do they define small companies and large companies? According to them: all those companies which has revenue less than 3000 dollars per year smaller companies and companies which has 25000 to 100000 dollar per year are larger company. So, this is something that they themselves have created the division.

Now they are not sure, the case is like this that they are not sure that which of these two types of companies they should target. So, when there is a targeting problem that they are facing that whom they should focus on.

So, what they did is, they went back and talked with their sales team and they found out some basic figures to based on which they want to take a call. So, one of the basic figures that they got is called Conversion Ratio. What is conversion ratio? That means how many leads, that what percentage of your leads that you generate ultimately gets converted.

So, it has been seen that small companies has higher conversion plan 15% conversion ratio, but the large companies have lower conversion plan only 5% percent conversion ratio and small companies — the cost per sales visit is also low only 20 dollars. So, sales visit is let's say, if you want to if you go for a small company or if you go for a B2B sales you sometimes have to go to that particular company's premises and give presentations stay there understand their problem and blah blah.

Now, these you have to do on at your own cost. You do not do it at the cost of the company who is your potential client. So, that cost of per sales visit is 20 dollars and the cost of sales visit from the side of the large companies is around 100 dollars; and number of sales visit per prospect that is required for small companies in general you need less number of visits 2, probably 2 days -2 visits only and in the large companies case it is 9 visits.

The turnover per customer during first year is 1200 dollars here and 44000 dollars in that case obviously in the large companies and margin of sales is 360 dollar in case of this guy and 8500 dollars in case of large companies and because they have less number of

large companies you have approached 8000 large companies in a particular year and 40000 small companies in a particular year.

So, this is the last one year's figures. Now based on this they have to decide that which of this group is more profitable in the long run, whom I should majorly focus in the next year also so that I can make lot more money in the long run.

So, what is the sales expense per prospect? So, per prospect — that means, they have not become the customer yet, the expenditure is basically the number of sales visit into the cost of sales visit right. And I drag it from here to here so, I drag it then I get 900 here and 40 here.

So, the conversion ratio is 15% and 5%. So, what is the cost to acquire a customer? The cost to acquire a customer is this divided by 0.15. Why this is divided by 0.15? Because if you know that, that if you -15% is the conversion rate right?

(Refer Slide Time: 05:47)



That means, out of 100 prospects you will generate 15 customers and out of 100 prospects, what will be the cost? 100 into 40 plus 40 dollars is the cost for each prospect. So, 100 into 40 so, 100 into 40 dollar will get 15 customers.

So, cost for 1 customer is 100 into 40 divided by 15, in other words, 40 divided by 0.15.So, that's what I am doing here. So, 40 divided by - 40 divided by this into 100. So, that will be the cost and if I just drag it this is 900 divided by 0.05 comes up to be 18000.

So, now this is you understand that your cost to acquire a customer is pretty high here and that is this is the benefit that you get. So, net contribution, what is the net contribution for the acquired customer, how much money that you generate in the first year, you only generate 93 because 360 is your margin first year and 267 is your cost. So, 93 is your margin and here it is negative margin minus 9500.

How many customers do we acquired? 15% of this and how many customers you have acquired here? 5% of this so 400, what is the initial investment in expansion of customer database? So, there is an — there is an investment that you have to do.

So, I will not focus on this let's keep this aside and the net contribution for newly acquired customer what is the net contribution we have already calculated that. So, this one is, if I am not wrong: to buy this thing there was some cost. So, let's forget about these two. I forgot what was written in the case okay. So, let's forget about these two. So, this is the situation that I have got.

Now the question is, that which one should I go for, Out of these two small companies and large companies whom should I focus on? This is the next big question that we are trying to answer. So, now, here I can see that here I am making 93 profit, but here I am making 9500 loss.

So, why will I even think about them, I will think about large class of companies because in the first year I might make a loss, but as I have shown in the previous video that in the next year onward, in the second year or third year or fourth year onward I can make some profit and that profit can be very high for the large companies. So, what to do then?

(Refer Slide Time: 09:29)

	- 100	114	5. 49	-	there is			(e)				1.00mg	
1	4	8	c	D	F	F	6	н	1	E.	×	1	
1	Year	Sales (S)	Gross Margin (%)	Margin (S)	Marketing and Service Expenses (S)	Retention Percentage (%)	Customer value contribution per account (S)	Discounted value Contributio n per account	Number of Accounts in a Year	Yearly discounted customer value contribution			
2	1998	1200	30	360	267		93	93	6000	558000			Cost of
3	1999	1700	35	595	75	75	520	433	4500	1950000			Number
4	2000	2300	35	805	75	80	730	507	3600	1825000			CV first
5	2001	2500	40	1000	50	85	950	550	3060	1682292			CV for r
6	2002	2500	40	1000	50	85	950	458	2601	1191623			Total Se
7	2003	2700	45	1215	50	90	1165	468	2341	1095980			Average
8	2004	2700	45	1215	50	90	1165	390	2107	821985			
9	2005	2700	50	1350	30	90	1320	368	1896	698511			
0	2006	2700	50	1350	30	90	1320	307	1707	523883			
1	2007	2700	50	1350	30	90	1320	256	1536	392912			
2													
3													
4											14	30	
5											1	45	
6											1		1

So, then we will calculate a customer lifetime value in the next stage. So, what I do here is I take certain assumptions. So, in the first year the sells is 1200, 30% was the margin.

So, 360 is the margin and the marketing expense is 267 this has been told to us, the sales I assumed to be increasing, increasing and slowly it will be probably let's say, saturate at 2700. At one point it will saturate will not further increase and the margin also slowly increases let say 45, 45 and then 50, 50, 50, that is the margin let us.

And the marketing expense slowly comes down. So, 50, 50 let's say, 30, 30, 30. Marketing expenses why it comes down, because as I told before that you know your customer mode. So, even that 30 small customer expenditure marketing expenditure can also lead to a closer.

So, and also another important thing is the retention rate slowly goes up. So, whoever joined in 1998 only 75% stays in 1999, but whoever stayed in 1999 80% of them stays in 19. Also just think about this situation one easy example and you will answer will be able to answer.

That at what year of your marriage after marriage at what year the chances of divorce is highest, in the 1st year or in the 2nd year or in the 5th year or in the 10th year or after 25 years or 30 year? So, after 25-30 year the chances of divorce is almost 0, it is much

Commented [A1]: ?2000? Time: 10.41 higher in the initial year, So that means, the retention rate is much higher as the age of the relationship goes away, goes up.

So, I let's say, that it will come up to 90% when I reach here fair enough, now based on these assumptions now these some values you got from the figures and some values are assumptions.

Based on these assumptions, you should not make the assumptions always this exact trend you should get it from your database. That data should be there in the database. What is the retention percentage you can get it from Markov Chain Models.

I will not go to that, but you can try to find out what is the exact probability to change from 10 years of relationship, 9 years of relationship to 10th year of relationship how I can get that probability. So, you should be able to find out that from the database.

So, you can ask as a marketing manager to your data science team that: give me these values. But once we have these values what is the contribution? This is, this minus the marketing expense that is a contribution per account that I got, what is the discounted value of the contribution per account.

So, what is the discounted, discounting rate that I have taken 20% is the cost of money. So, this divided by 1.2 to the power 1998 minus this year. So, just assume what I have written, G point 2 divided by 1.2 to the power 0 for the first one.

If I now drag it, this is 520 divided by 1.2 to the power 1 because 1999 minus A3 which is basically or it is actually the other way sorry. So, it is A2 minus 1998, otherwise it is A2 minus 1998.

So, now, that is the discounted price it is a little bit lower than 520 and so on. So, this is the discounted contribution; and what are the number of accounts in a year, how many accounts are there? So, the initial year I have acquired 6000 customers, first year, 75% of them stays in the second year, 80% of that stays in the next year, and so on.

So, these are the number of accounts that stay in respective years out of these 6000 guys who I have acquired on 1998. So, then what is the net yearly discounted contribution: this into this.

(Refer Slide Time: 14:36)

-	41.1 10.11	and a second	- april -						100%	
1	F	G	н	1	1	к	1	м	N	0
	Retention Percentage	Customer value contribution per account	Discounted value Contributio n per	Number of Accounts	Yearly discounted customer value					
2	(20)	(2)	account	6000	SSR000			Cost of Money (%)	20	
2	75	530	422	4500	1950000			Number of customer Acquired	6000	
8	80	730	433	3600	1825000			CV first year	558000	
5	85	950	550	3060	1682292			CV for rent of 9 years	10182186	
6	85	950	458	2601	1191623			Total Segment CV	10740186	
7	90	1165	468	2341	1095980			Average Customer Value	1790	
3	90	1165	390	2107	821985			U.		
9	90	1320	368	1896	698511				-	
0	90	1320	307	1707	523883					
1	90	1320	256	1536	392912	68				
2									1 Ster	
3									1-h	
4										The

So, here if I see I get the average also. So, I get the total contribution is basically a sum of all this first year I make this much money, for the next years I make this much money. So, these if I just add I get a total segments' customer value and customer lifetime value and average customer lifetime value is nothing, but this divided by 6000 because I have acquired 6000 customers. So, N6 by N3 gives me 1790.

(Refer Slide Time: 15:18)

b	Xor Bow -	6	aa - 11	- K X ==	- Daub	e 1444	- 1 B	i hard	Ref.	No.	Nederal	Colleges of		The second seco	
	#Tornal fac	- 1		•	and the second		Tanala Tanala	pr Tatler						· · · Eller Herbart	
			U. 6 1 40%												
	A		8	c	0	£	+	G	н	1	J	ĸ	i.	м	N
	Year		Sales (5)	Gross Margin (%)	Margin (5)	Marketing and Service Expenses (S)	Retention Percentage (%)	Customer value contribution per account (\$1	Discounte d value Contributi on per account	Number of Accounts in a Year	Yearly discounted customer value contributio				
		998	44000	15	8360	18000		-9640	-9640	400	-3856000			Cost of Money (%)	1
		999	52000	24	12480	1000	40	11490	9567	160	1530567			Number of customer Acquired	4
	1	000	70000	26	18200	1000	55	17200	11944	88	1051111			CV first year	-38560
	1	1001	85000	23	22950	400	65	22550	13050	57	745447			CV for rent of 9 years	42882
	1	1002	85000	23	22950	400	65	22550	10875	37	404325			Total Segment CV	4322
	1	1003	90000	25	25200	400	65	24800	9967	24	240862			Average Customer Value	10
	1	1004	90000	28	25200	400	70	24800	8305	17	140503				
	1	1005	95000	25	27550	300	70	27250	7605	12	90057				
	1	1006	95000	25	27550	300	70	27250	6337	8	52533				
	1	1007	95000	30	28500	300	70	28200	5465	6	31713			-	
														and the second	
														TOTO I	
														9-1	
			I della mari		C. Berner of a few									A DEL	
ļ									_		194	_	-		

So, from each client over the time period I will make 1790. So, now, question is what happens for large customers? For large customers I will try to see the same thing. So,

let's say, it starts with 44000 and I assume that it will be saturating at 95000 let's say: 90,000 90,000 and then 95,000 and the margin let's say, saturates to be 24, 26, 27 let's say, 29, 28 for twice and then 29, 29, and 30 let's say, that is how the gross margin works.

So, then what is the margin? The margin is basically, I would remove this, the margin is basically, this into this by 100 that is the margin, here do the same calculation here, just one minute I did no sorry yes I did the calculations.

So, the margin is nothing, but B2*C2 divided by 100 and that is the margin fair enough. Now what is the marketing expenditure? I think that the marketing expenditure will come to 300 and then saturate and the retention percentage will go up to 70, 70, 70, and then 75, something like that and that is how it will be let say this is also 70.

Then, what is the contribution? So, what I will do is the equations are more or less same, but still what is the contribution. The contribution is the margin minus the marketing expenditure as you know the first year it will be a loss, but the second year onward it will be a benefit.

And what is the discounted price? Discounted price is this divided by 1.2 to the power this one minus 1998 — as we did for the previous chart also, previous excels. So, this is the discounted contribution I got. How many in the first year they did, they acquire? They acquired 400 customers in the first year so, 400 and then this multiplied by 100 so, these many customers stays back. What is the net money then? This into 400 and so on.

(Refer Slide Time: 18:08)

7	#Tamatame	1.1.8 - 11 -	8-A- 8.83	e e Eline	rine - 17-16	10.0 Contra	ne fanden 🖻	-	territy . Itel	Carlo State	(e)	tate in inter from Cite	Sandt Fould Elbert Salatr	
	4	- 6 L 44	N	report	1. 1.0				204				18krg	
	8	c	D	E	F	6	н	1	1	к	ι	м	N	0
	Sales (5)	Gross Margin (%)	Margin (5)	Marketing and Service Expenses (5)	Retention Percentage (%)	Customer value contribution per account (\$)	Discounte d value Contributi on per account	Number of Accounts in a Year	Yearly discounted customer value contributio n					
	44000	1	9 836	18000		-9640	-9540	400	-3856000			Cost of Money (%)	20	
	52000	2	4 1248	1000	i qu	11480	9567	160	1530667			Number of customer Acquired	400	
	70000	2	6 1820	1000	35	17200	11944	88	1051111			CV first year	-3856000	
	85000	2	7 2295	3 400	65	22550	13050	57	746447			CV for rent of 9 years	4288217	
	85000	2	7 2295	3 400	65	22550	10875	37	404325			Total Segment CV	432217	
	90000	2	B 2520	0 400	65	24800	9967	24	240862			Average Customer Value	1081	
	90000	2	8 2520	J 400	1 70	24800	8305	17	140503					
	95000	2	9 2755	300	1 70	27250	7605	12	90057					
	95000	2	9 2755	300	1 70	27250	6337	8	52533					
	95000	3	0 2850	300	1 70	28200	5465	6	31713					
												NOV	F	
													1	
												15	5	
8													30	1

So see, we can see here that here after the calculation and etcetera I can see that it is 1081 and this is 1790 if I am not wrong. So, this is much higher in an overall sense and why it is much higher, you can see that if — there are lots of assumptions, but this is a very big assumption that first year 40 and then 55, 65, 70. Why if I just make this one as let's say, 50 this values becomes very high 3761.

(Refer Slide Time: 18:45)

	ne.		Apres 1	5 50		1.175		1947			38	1.0kmg	
	1.2.10												
8	C	D	E	F	G	н	1	1	K	L	M	N	0
Sales (S)	Gross Margin (N)	Margin (5)	Marketing and Service Expenses (S)	Retention Percentage (%)	Customer value contribution per account (\$)	Discounte d value Contributi on per account	Number of Accounts in a Year	Yearly discounted customer value contributio n					
44000	15	8 8360	18000		-9640	-9540	400	-3856000			Cost of Money (%)	20	
52000	24	12480	1000	40	11480	9567	160	1530667			Number of customer Acquired	400	
70000	28	5 18200	1000	55	17200	11944	88	1051111			CV first year	-3856000	
85000	2	22950	400	65	22550	13050	57	746447			CV for rent of 9 years	4288217	
85000	2	22950	400	65	22550	10875	¥ 37	404325			Total Segment CV	432217	
90000	21	8 25200	400	65	24800	9967	24	240862			Average Customer Value	1081	
90000	21	8 25200	400	70	24800	8305	17	140503					
95000	25	27550	300	70	27250	7605	12	90057					
95000	21	27550	300	70	27250	6337	8	52533					
95000	31	28500	300	70	28200	5465	6	31713				-	
											10	Tree to	
											1	the p	
											1		

So, it is important that how many you retain from first year to second year that's because the most amount of money that is getting generated is in the second year here. So, how many you can retain for one single year for the large customers can make a change.

(Refer Slide Time: 19:03)

	BOH-	200 - U 7 8 - U - 1	-x x -==	er C Dings	e Norder Kenne i Wii Wi	· S. S. Contton			t Real	- An	nd 11 (28)	tere Side Long Cont	27 M	
	tament is	e		August 1	1 10	-			104				100-0	
		J 5 463	0											
	8	C	D	E	F	G	н	1	1	ĸ	t.	М	N	0
	Sales (5)	Gross Margin (%)	Margin (5)	Marketing and Service Expenses (5)	Retention Percentage (%)	Customer value contribution per account (S)	Discounte d value Contributi on per account	Number of Accounts in a Year	Yearly discounted customer value contributio n					
	44000	15	8360	18000		-9640	-9540	400	-3856000			Cost of Money (%)	20	
	52000	24	12480	1000	45	11480	9567	180	1722000			Number of customer Acquired	400	
i.	70000	26	18200	1000	55	17200	11944	99	1182500			CV first year	-3856000	
	85000	27	22950	400	65	22550	13050	64	839753			CV for rent of 9 years	4824244	
	85000	27	22950	400	65	22550	10875	42	454866			Total Segment CV	968244	
	90000	25	25200	400	65	24800	9967	27	270970			Average Customer Value	,2421	
	90000	28	25200	400	70	24800	8305	19	158066				-	
ł.	95000	25	27550	300	70	27250	7605	13	101314					
0	95000	25	27550	300	70	27250	6337	9	59100					
1	95000	30	28500	300	70	28200	5465	7	35677			-		
2														
i														
ŧ.												-Ori	1	
5												-		
6												E	2.0	
7														
ġ.													1	

If you make it 45 this becomes higher from 40.

(Refer Slide Time: 19:08)

RO AN	n -	1000 - 100 100 - 100 - 100 1000	- x x = = =	e- Daub en Ellippi	e Ganti Gant - To - N	- M. A. Contro Facility					-14	international distance distan	See & Fourth Starth Fourth Filters	
		V 8 8												
	8	С	D	E	F	G	н	1	1	ĸ	t.	м	N	0
Sale	s (S)	Gross Margin (N)	Margin (S)	Marketing and Service Expenses (5)	Retention Percentage (%)	Customer value contribution per account (5)	Discounte d value Contributi on per account	Number of Accounts in a Year	Yearly discounted customer value contributio					
	44000	15	8360	18000		-9640	-9540	400	-3856000			Cost of Money (%)	20	
	52000	24	12480	1000	0,42	11480	9567	168	1607200			Number of customer Acquired	400	
	70000	26	18200	1000	55	17200	11944	92	1103667			CV first year	-3856000	
	85000	27	22950	400	65	22550	13050	60	783769			CV for rent of 9 years	4502628	
	85000	27	22950	400	65	22550	10875	39	424542			Total Segment CV	646628	
	90000	28	25200	400	65	24800	9967	25	252905			Average Customer Value	1617	
	90000	28	25200	400	70	24900	8305	18	147528					
	95000	25	27550	300	70	27250	7605	12	94560					
	95000	25	27550	300	70	27250	6337	9	55160					
	95000	30	28500	300	70	28200	5465	6	33298				_	
												1 Star	E.	
												-	16	
												100	Carl Con	
												L	12	

(Refer Slide Time: 19:10)

	Round Farmer	1 / 8 - 10 -	A 4	er Dinals	Contra - Sin 4	N C Contra			tion of the second s		er Call	Ann Inter Line Cone Cone	1000	
4		V 5 B												
	8	C	D	E	F	G	н	1	J	K	L	М	N	0
1	Sales (5)	Gross Margin (%)	Margin (S)	Marketing and Service Expenses (S)	Retention Percentage (%)	Customer value contribution per account (\$)	Discounte d value Contributi on per account	Number of Accounts in a Year	Yearly discounted customer value contributio n					
	44000	1	9 8360	18000		-9640	-9540	400	-3856000			Cost of Money (%)	20	
3	52000	2	4 12480	1000	43	11480	9567	172	1645467			Number of customer Acquired	400	
ŧ.	70000	2	6 18200	1000	55	17200	11944	95	1129944			CV first year	-3856000	
	85000	2	7 22950	400	65	22550	13050	61	B02430			CV for rent of 9 years	4609834	
	85000	2	7 22950	400	65	22550	10875	40	434650			Total Segment CV	753834	
	90000	2	8 25200	400	65	24800	9967	26	258927			Average Customer Value	1885	
	90000	2	8 25200	400	70	24900	8305	18	151041					
	95000	2	9 27550	300	70	27250	7605	13	96811					
	95000	2	9 27550	300	70	27250	6337	9	56473					
	95000	3	0 28500	300	70	28200	5465	6	34091					
1														
5													1	
													0.1	
0												N.		
1												1E		
×.														1

If you make it 42 or 43 this becomes higher than before. So, how many you can retain, for one single year — large customer is sometimes define your whether you will be able to get lots of money from the large customers or not.

(Refer Slide Time: 19:19)



So, that is how we can do in a B2B sectors the calculation of customer lifetime value. Now customer lifetime value is also an important factor for a B2C sector, now in a B2C sector there are referrals involved in B2B there is generally less number of referrals but into B2C sector there is up selling, there is cross selling, there is B2B. So, there is B2C referrals. So, all of these things becomes handy in the context of B2C.

(Refer Slide Time: 20:03)

1	Kin (and a star Biogram (b)	2	e- Disata ere: Essapati		- 1.0		d M	tini Tra	No.bid	Coloniation Auto	iner Seen Form	E far	Tr M	
	tanet is feet	4	Agend .	5 548	n	1.15		204			- 10		laterg	
11	1 1 2 5 5													
	A	8	C	D	E	F	G	н	1	J	K	L	M	N
1			Year0	Year1	Year2	Year3	Year4	YearS	Assumptio	ns				
2	Revenue			12000	13200	14520	15972	17569.2	Revenue in	nceases by 1	0% per yea	r		
3	Costs		2000	9600	10368	11197.44	12093.24	13060.69	Costs incre	ase by 8% p	er year, 201	00 rs is c	ine time ac	quisition
4	CLV													
5	Profits		-2000	2400	2832	3322.56	3878.765	4508.506	i					
	Profit from increased													
6	purchase of rooms				800	960	1152	1382.4	Increases .	20% per year				
	Profit from other													
7	services				1000	1200	1440	1728	Increases 2	20% per year				
	Profit from reduced													
8	overheads				1320	1452	1597.2	1756.92	Overhead:	reduces 10	% of the ret	venue fr	om Year 2	
9	Profit from referrals				1980	2178	2395.8	2635.38	Increases :	10% per year				
10	Total Profit		-2000	2400	7932	9112.56	10463.76	12011.21						
11	Present Value		-2000	2086.957	5997.732	5991.656	5982.691	5971.692	Discountin	g factor 15%				
12	Net Present Value		24030.73											
13			0	1	2	* 3	4	5						
4														
15														
16														
17														
-	Tanini I tellisten I I	and the local data	Define value for on											
÷														and in case of

So, I will give you a idea about how to calculate the lifetime value for a resort. So, let's say, a resort is making...So, so it is a year 2 to year 5 they have decided 5 years of life cycle.

And there are certain assumptions. The first assumption is: that to incur you have, to get a customer you have to incur 2000 rupees of acquisition cost in the first year and then you first year acquisition cost is one time and then for the next of the time, the first year the cost is 9600 and that cost increases by 8% per year.

And after doing acquisition by paying 2000 rupees in the first year 0, year 1 when the customer comes as a customer they do generate revenue of 12000 in that particular resort by staying in that resort. So, 2000 rupees is your cost, to catch the customer, after the customer comes to your customer base you have to they give you 12000 rupees revenue and out of this 12000 revenue 9600 is your cost.

Now the revenue slowly goes up and the costs slowly comes down over year, cost come down at a, cost also goes up, but not at a similar rate revenue goes up at a 10% per year rate and cost goes up at 8% per year rate. So, how much is the revenue here then, into 1.1

and here it is into 1.1 so, I can drag it and this is the revenue for the next 4 years; and what is the cost, cost increase at 8% per year rate. So, this is the cost for next 4 years.

So, now, we will be calculating the profits. So, what is the profit? The profit is basically, revenue minus cost. So, first year there is a loss and second year onwards you are making some money. Now you also make money from other things one is, see four things I have written here: one is, profit from increased purchase for rooms; that means, increased revenue I told you in the fourth. So, increased revenue upsell and cross sell referrals so, increased revenue. Profit from other service which is cross sell, reduced overhead the cost of serving you comes down and referrals.

So, there are four source of money that is there, what is the increased purchase upsell? In the first year no upsell happens because there is the first time you were purchasing anything in the second year onwards upsell happens. So, upsell happens of 800 rupees and it increases at a rate of 20% per year.

How does this assumption come from? Where does it the assumptions comes from? The assumptions come from the database that you already have. The customer database you have to join that customer database, you have to; you have to; you have to analyze the customer database and create these assumptions which are meaningful so, 1.2 and so on.

And the profit from other services that also increases at rate of 1.2 rate. So, this into 1.2; 20% increase every year next year, it will be 1440 and then it is 1728. The referrals increase at a 10% rate so, this into 1.1 and so on. And overheads reduce from revenue, 10% of the revenue from year 2. What is the 10% of revenue? This is 10% of revenue: this much is the reduction in the overheads that also contributes towards your profit.

So, all of these 4 things contributes towards your profit. So, what is your total profit then? There is nothing, but a sum of these five things. The profit from sells, the profit from up sells, the profit from cross sells, the profit from reduction of overheads and the profit from referrals. All of these things contribute towards your ultimate profit overall.

Now, you have to see carefully that the first year you are making a money of 2400, the second year it is 7900 which is huge, next year it is which is a huge jump because all these cross sell upsell all of these things comes in.

Third year it is 9500 significant jump, but not very huge and then 10000 and then 12000. So, how do you decide it is 5 years you can go up to more so, whether it will be 5 year life cycle or 7 year life cycle or 10 year life cycle it also a critical decision I told that CLV calculation starts from lifetime calculation.

What is the lifetime? Here we have taken 10 years as lifetime I would have taken for 5 years and then did the calculation. So, that is also crucial decision and that comes from the transition probability, that what is the transition probability that from one year to another year how much will be the change in terms of the percentage.

So, keeping that in your background we have to take whether it is 5 years, or 7 years, or 9 years, or something like that. Now I have taken a discounting factor of 15%. So, what I will do is I will just write 0, 1, 2, 3, 4, 5. So, first year the discounting factor is basically these divided by 1.15 to the power 0 sorry 1.15 to the power D 0 value and if I drag next year it becomes 2400 divided by 1.15 to the power D 13 which is 1 and so on. If I just drag these things up to this point then I know that see the values have come down and the net present value is then how much: the sum of all of these things.

So, the net present value for this customer is 2400, now what contributes in this 2400 you will see that this jump is basically contributing to this. So, the major contributor is these values and these values are coming not from the increase here, the increase here is not much, but these values are coming from the increase here — this cross sell upsell and reduction is something that is contributing the most, and out of them also the highest contributing factor is the referrals you can see there are lots almost 2000 to 2500 rupees every year is coming from referrals.

For a resort context its lifetime value for a resort, for a resort context that is why the referrals becomes a very important factor while you are calculating customer lifetime value. So, I will stop here in terms of customer lifetime value calculation we have done two types of customer lifetime value calculation one in B2B, one in B2C both has huge applications in the economies of customer relationship management.

And in the next video we will be discussing about certain cases where these concepts of customer lifetime value management and customer relationship management will be used to take business decisions that how I can take strategic decisions by making

informed choice based on the based on hardcore monetary values rather than very softcore, very-very abstract marketing strategies.

We have to take marketing decisions which are hardcore quantitative decisions and how that can be taken using this CLV calculation is something that we will be discussing in the next video.

Thank you for being with me in this particular video, I will see you in the next class.

Thank you.